Filomat 32:10 (2018), 3599–3607 https://doi.org/10.2298/FIL1810599E



Published by Faculty of Sciences and Mathematics, University of Niš, Serbia Available at: http://www.pmf.ni.ac.rs/filomat

# **Incomplete** *q***-Chebyshev Polynomials**

## Elif Ercan<sup>a</sup>, Mirac Cetin<sup>b</sup>, Naim Tuglu<sup>a</sup>

<sup>a</sup>Gazi University, Faculty of Science, Departments of Mathematics Ankara/TURKEY <sup>b</sup>Başkent University, Faculty of Education, Departments of Mathematics Education Ankara/TURKEY

**Abstract.** In this paper, we get the generating functions of the *q*-Chebyshev polynomials using  $\eta_z$  operator, which is  $\eta_z(f(z)) = f(qz)$  for any given function f(z). Also considering explicit formulas of the *q*-Chebyshev polynomials, we give new generalizations of the *q*-Chebyshev polynomials called the incomplete *q*-Chebyshev polynomials of the first and second kind. We obtain recurrence relations and several properties of these polynomials. We show that there are connections between the incomplete *q*-Chebyshev polynomials and the some well-known polynomials.

#### 1. Introduction

The Chebyshev polynomials are of great importance in many area of mathematics, particularly approximation theory. The Chebyshev polynomials of the second kind can be expressed by the formula

$$U_n(x) = 2xU_{n-1}(x) - U_{n-2}(x)$$
  $n \ge 2$ 

with initial conditions  $U_0 = 1$ ,  $U_1(x) = 2x$  and the Chebyshev polynomials of the first kind can be defined as

$$T_n(x) = 2xT_{n-1}(x) - T_{n-2}(x)$$
  $n \ge 2$ 

with initial conditions  $T_0(x) = 1$ ,  $T_1(x) = x$  in [13].

The well-known Fibonacci and Lucas sequences are defined by the recurrence relations

 $F_{n+1} = F_n + F_{n-1} \qquad n \ge 1$ 

$$L_{n+1} = L_n + L_{n-1} \qquad n \ge 1$$

with initial conditions  $F_0 = 0$ ,  $F_1 = 1$  and  $L_0 = 2$ ,  $L_1 = 1$ , respectively. In [10], Filipponi introduced a generalization of the Fibonacci numbers. Accordingly, the incomplete Fibonacci and Lucas numbers are determined by:

$$F_n(k) = \sum_{j=0}^{\kappa} \binom{n-1-j}{j}, \qquad 0 \le k \le \left\lfloor \frac{n-1}{2} \right\rfloor$$
(1)

<sup>2010</sup> Mathematics Subject Classification. Primary 11B39; Secondary 05A30

Keywords. q-Chebyshev polynomials, q-Fibonacci polynomials, Incomplete polynomials, Fibonacci number

Received: 26 September 2017; Accepted: 25 April 2018

Communicated by Hari M. Srivastava

Email addresses: elifercan06@gmail.com (ElifErcan), mcetin@baskent.edu.tr (MiracCetin), naimtuglu@gazi.edu.tr (NaimTuglu)

and

$$L_n(k) = \sum_{j=0}^k \frac{n}{n-j} \binom{n-j}{j}, \qquad 0 \le k \le \left\lfloor \frac{n}{2} \right\rfloor,$$
(2)

where  $n \in \mathbb{N}$ . Note that  $F_n(\lfloor \frac{n-1}{2} \rfloor) = F_n$  and  $L_n(\lfloor \frac{n}{2} \rfloor) = L_n$ . In [16], the generating functions of incomplete Fibonacci and Lucas polynomials were given by Pintér and Srivastava. For more results on the incomplete Fibonacci numbers, the readers may refer to [6–9, 17, 20, 21].

We need *q*-integer and *q*-binomial coefficient. There are several equivalent definition and notation for the *q*-binomial coefficients [2, 11, 12, 15, 19]. Let  $q \in \mathbb{C}$  with 0 < |q| < 1 as an indeterminate and nonnegative integer *n*. The *q*-integer of the number *n* is defined by

$$[n]_q := \frac{1-q^n}{1-q}$$

with  $[0]_q = 0$ . The Gaussian or *q*-binomial coefficients are defined by

$$\begin{bmatrix} n \\ k \end{bmatrix}_q := \frac{(q;q)_n}{(q;q)_{n-k}(q;q)_k}, \quad 0 \le k \le n$$

with  $\begin{bmatrix} n \\ k \end{bmatrix}_q = 0$  for n < k, where  $(x; q)_n$  is the *q*-shifted factorial, that is,  $(x; q)_0 = 1$ ,

$$(x;q)_n = \prod_{i=0}^{n-1} (1-q^i x).$$

The *q*-binomial coefficient satisfies the recurrence relations and properties:

$$\begin{bmatrix} n+1\\k \end{bmatrix}_q = q^k \begin{bmatrix} n\\k \end{bmatrix}_q + \begin{bmatrix} n\\k-1 \end{bmatrix}_q$$
(3)

$$\begin{bmatrix} n+1\\k \end{bmatrix}_q = \begin{bmatrix} n\\k \end{bmatrix}_q + q^{n-k+1} \begin{bmatrix} n\\k-1 \end{bmatrix}_q$$
(4)

$$\frac{[n]_q}{[n-k]_q} \begin{bmatrix} n-k\\k \end{bmatrix}_q = q^k \begin{bmatrix} n-k\\k \end{bmatrix}_q + \begin{bmatrix} n-k-1\\k-1 \end{bmatrix}_q$$
(5)

$$q^{k} \frac{[n]_{q}}{[n-k]_{q}} {n-k \brack k}_{q} = q^{k} {n-k \brack k}_{q} + q^{n} {n-k-1 \brack k-1}_{q}.$$
(6)

The q-analogues of the Fibonacci polynomials are studied by Carlitz in [3]. Also, a new q-analogue of the Fibonacci polynomials is defined by Cigler and obtain some of its properties in [5]. In [14], Pan study some arithmetic properties of the q-Fibonacci numbers and the q-Pell numbers. Cigler defined the q-analogues of the Chebyshev polynomials and study properties of these polynomials in [4].

In this paper, we derive generating functions of the *q*-Chebyshev polynomials of the first and second kind. More generally, we define the incomplete *q*-Chebyshev polynomials of the first and second kind. We get recurrence relations and several properties of these polynomials. We show that there are the relationships between *q*-Chebyshev polynomials and the incomplete *q*-Chebyshev polynomials.

#### 2. q-Chebyshev Polynomials

**Definition 2.1.** The q-Chebyshev polynomials of the second kind are defined by

$$\mathcal{U}_{n}(x,s,q) = (1+q^{n})x \,\mathcal{U}_{n-1}(x,s,q) + q^{n-1}s \,\mathcal{U}_{n-2}(x,s,q) \qquad n \ge 2$$
(7)

with initial conditions  $\mathcal{U}_0(x, s, q) = 1$  and  $\mathcal{U}_1(x, s, q) = (1 + q)x$  in [4].

**Definition 2.2.** The q-Chebyshev polynomials of the first kind are defined by

$$\mathcal{T}_n(x,s,q) = (1+q^{n-1})x\mathcal{T}_{n-1}(x,s,q) + q^{n-1}s\mathcal{T}_{n-2}(x,s,q) \qquad n \ge 2$$
(8)

with initial conditions  $\mathcal{T}_0(x, s, q) = 1$  and  $\mathcal{T}_1(x, s, q) = x$  in [4].

It is clear that  $\mathcal{U}_n(x, -1, 1) = U_n(x)$  and  $\mathcal{T}_n(x, -1, 1) = T_n(x)$ . The *q*-Chebyshev polynomials of the second kind is determined as the combinatorial sum

$$\mathcal{U}_{n}(x,s,q) = \sum_{j=0}^{\lfloor \frac{n}{2} \rfloor} q^{j^{2}} {n-j \brack j}_{q} \frac{(-q;q)_{n-j}}{(-q;q)_{j}} s^{j} x^{n-2j}, \qquad n \ge 0$$
(9)

and the q-Chebyshev polynomials of the first kind is determined as

$$\mathcal{T}_{n}(x,s,q) = \sum_{j=0}^{\lfloor \frac{n}{2} \rfloor} q^{j^{2}} \frac{[n]_{q}}{[n-j]_{q}} {n-j \brack j}_{q} \frac{(-q;q)_{n-j-1}}{(-q;q)_{j}} s^{j} x^{n-2j}, \quad n > 0$$
(10)

with  $T_0(x, s, q) = 1$  in [4].

## 2.1. Generating Functions of q-Chebyshev Polynomials

Andrews [1] obtain the generating function for Schur's polynomials, which is defined by  $S_n(q) = S_{n-1}(q) - q^{n-2}S_{n-2}(q)$  for n > 1 with initial conditions  $S_0(q) = 0$  and  $S_1(q) = 1$ . The generating functions of  $S_n(q)$  is

$$\sum_{n=0}^{\infty} S_n(q) x^n = \frac{x}{1 - x - x^2 \eta_z}$$
(11)

where is  $\eta_z$  is an operator on functions of *z* defined by  $\eta_z(f(z)) = f(qz)$  in [1]. We give the following theorems for generating functions of *q*-Chebyshev polynomials of the second and first kind with an operator  $\eta_z$ .

**Theorem 2.3.** The generating function of the q-Chebyshev polynomials of the second kind is

$$G(z) = \frac{1}{1 - zx - (xqz + sqz^2)\eta_z}.$$
(12)

*Proof.* Let  $G(z) = \sum_{n=0}^{\infty} \mathcal{U}_n z^n$ . Thus we write

(

$$\left(1 - xz - \left(xqz + sqz^2\right)\eta_z\right)G(z) = \sum_{n=0}^{\infty} \mathcal{U}_n z^n - x\sum_{n=0}^{\infty} \mathcal{U}_n z^{n+1} - x\sum_{n=0}^{\infty} \mathcal{U}_n q^{n+1} z^{n+1} - s\sum_{n=0}^{\infty} \mathcal{U}_n q^{n+1} z^{n+2}$$
  
=  $\mathcal{U}_0 + \mathcal{U}_1 z - x (1+q) \mathcal{U}_0 z + \sum_{n=2}^{\infty} \left(\mathcal{U}_n - x (1+q^n) \mathcal{U}_{n-1} - s \mathcal{U}_{n-2} q^{n-1}\right) z^n.$ 

Therefore we have from Eq. (7) and  $\mathcal{U}_0 = 1$ ,  $\mathcal{U}_1 = (1 + q)x$ , we get

$$1 - xz - \left(xqz + sqz^2\right)\eta_z\right)G(z) = 1.$$

**Theorem 2.4.** The generating function of the q-Chebyshev polynomials of the first kind is

$$S(z) = \frac{1 - xz}{1 - xz - (xz - sqz^2)\eta_z}.$$
(13)

*Proof.* Let  $S(z) = \sum_{n=0}^{\infty} \mathcal{T}_n z^n$ . Then

$$\left(1 - xz - (xz - sqz^2)\eta_z\right)S(z) = \sum_{n=0}^{\infty} \mathcal{T}_n z^n - x \sum_{n=1}^{\infty} \mathcal{T}_{n-1} z^n - x \sum_{n=1}^{\infty} \mathcal{T}_{n-1} q^{n-1} z^n - s \sum_{n=2}^{\infty} \mathcal{T}_{n-2} q^{n-1} z^n$$
  
=  $\mathcal{T}_0 + \mathcal{T}_1 z - 2x \mathcal{T}_0 z + \sum_{n=2}^{\infty} \left(\mathcal{T}_n - x \left(1 + q^{n-1}\right) \mathcal{T}_{n-1} - sq^{n-1} \mathcal{T}_{n-2}\right) z^n,$ 

using Eq. (8) and  $T_0 = 1$  ve  $T_1 = x$ , we conclude that

$$S(z)-xzS(z)-xz\,\eta_z S(z)-sqz^2\,\eta_z S(z)=1-xz,$$

finally we obtain

$$S(z) = \frac{1 - xz}{1 - xz - (xz - sqz^2)\eta_z}.$$
(14)

## 3. Incomplete q-Chebyshev Polynomials

In this section, we define the incomplete *q*-Chebyshev polynomials of the first and second kind. We give several properties for these polynomials.

**Definition 3.1.** *For n is a nonnegative integer, the incomplete q-Chebyshev polynomials of the second kind are defined as* 

$$\mathcal{U}_{n}^{k}(x,s,q) = \sum_{j=0}^{k} q^{j^{2}} {n-j \brack j}_{q} \frac{(-q;q)_{n-j}}{(-q;q)_{j}} s^{j} x^{n-2j} \quad 0 \le k \le \left\lfloor \frac{n}{2} \right\rfloor.$$
(15)

When  $k = \lfloor \frac{n}{2} \rfloor$  in (15),  $\mathcal{U}_n^k(x, s, q) = \mathcal{U}_n(x, s, q)$ , we get the *q*-Chebyshev polynomials of the second kind in [4].

**Definition 3.2.** *For n is a nonnegative integer, the incomplete q-Chebyshev polynomials of the first kind are defined by* 

$$\mathcal{T}_{n}^{k}(x,s,q) = \sum_{j=0}^{k} q^{j^{2}} \frac{[n]_{q}}{[n-j]_{q}} {n-j \brack j}_{q} \frac{(-q;q)_{n-j-1}}{(-q;q)_{j}} s^{j} x^{n-2j} \quad 0 \le k \le \left\lfloor \frac{n}{2} \right\rfloor.$$
(16)

**Theorem 3.3.** The incomplete q-Chebyshev Polynomials of the second kind satisfy

$$\mathcal{U}_{n+2}^{k+1} = (1+q^{n+2})x \,\mathcal{U}_{n+1}^{k+1} + q^{n+1}s \,\mathcal{U}_n^k \tag{17}$$

for  $0 \le k \le \frac{n-1}{2}$ .

*Proof.* From Eq. (15), we can write

$$(1+q^{n+2})x \,\mathcal{U}_{n+1}^{k+1} + q^{n+1}s \,\mathcal{U}_{n}^{k} = (1+q^{n+2})x \sum_{j=0}^{k+1} q^{j^{2}} {n-j \choose j}_{q} \frac{(-q;q)_{n-j+1}}{(-q;q)_{j}} s^{j} x^{n+1-2j} + q^{n+1}s \sum_{j=0}^{k} q^{j^{2}} {n-j \choose j}_{q} \frac{(-q;q)_{n-j}}{(-q;q)_{j}} s^{j} x^{n-2j} = \sum_{j=0}^{k+1} q^{j^{2}} \left\{ \left( {n-j+1 \choose j}_{q} + q^{n-2j+2} {n-j+1 \choose j-1}_{q} \right) + q^{n-j+2} \left( q^{j} {n-j+1 \choose j}_{q} + {n-j+1 \choose j-1}_{j} j - 1_{q} \right) \right\} \frac{(-q;q)_{n-j+1}}{(-q;q)_{j}} s^{j} x^{n-2j+2}.$$

Thus using Eq. (3) and Eq. (4), we get

$$(1+q^{n+2})x \,\mathcal{U}_{n+1}^{k+1} + q^{n+1}s \,\mathcal{U}_n^k = \sum_{j=0}^{k+1} q^{j^2} {n-j+2 \brack j}_q \frac{(-q;q)_{n-j+2}}{(-q;q)_j} s^j x^{n-2j+2}$$
$$= \mathcal{U}_{n+2}^{k+1}.$$

**Corollary 3.4.** The incomplete q-Chebyshev Polynomials of the second kind satisfy the non-homogeneous recurrence relation

$$\mathcal{U}_{n+2}^{k} = (1+q^{n+2})x \ \mathcal{U}_{n+1}^{k} + q^{n+1}s \ \mathcal{U}_{n}^{k} - q^{n+1+k^{2}} {n-k \brack k}_{q} \frac{(-q;q)_{n-k}}{(-q;q)_{k}} s^{k+1} x^{n-2k}.$$
(18)

**Theorem 3.5.** For  $0 \le k \le \frac{n+1}{2}$ , the following equality give a relationships between the incomplete q-Chebyshev polynomials of the first and second kind

$$\mathcal{T}_{n+2}^{k} = x \,\mathcal{U}_{n+1}^{k} + q^{n+1} s \,\mathcal{U}_{n}^{k-1}.$$
(19)

Proof. Using Eq. (15), Eq. (4) and Eq. (6) we obtain

$$\begin{aligned} \mathcal{U}_{n+1}^{k} + q^{n+1}s \ \mathcal{U}_{n}^{k-1} &= x \sum_{j=0}^{k} q^{j^{2}} {n-j+1 \brack j}_{q} \frac{(-q;q)_{n-j+1}}{(-q;q)_{j}} s^{j} x^{n+1-2j} + q^{n+1}s \sum_{j=0}^{k-1} q^{j^{2}} {n-j \brack j}_{q} \frac{(-q;q)_{n-j}}{(-q;q)_{j}} s^{j} x^{n-2j} \\ &= \sum_{j=0}^{k} q^{j^{2}} \frac{[n+2]_{q}}{[n-j+2]_{q}} {n-j+2 \brack j}_{q} \frac{(-q;q)_{n-j+1}}{(-q;q)_{j}} s^{j} x^{n-2j+2} \\ &= \mathcal{T}_{n+2}^{k}. \end{aligned}$$

Theorem 3.6. The incomplete q-Chebyshev polynomials of the first kind satisfy

$$\mathcal{T}_{n+2}^{k+1} = (1+q^{n+1})x\mathcal{T}_{n+1}^{k+1} + q^{n+1}s\mathcal{T}_n^k$$
(20)

for  $0 \le k \le \frac{n-1}{2}$ .

Proof. By using Eq. (17) and Eq. (19), we get

$$\mathcal{T}_{n+2}^{k+1} = x \,\mathcal{U}_{n+1}^{k+1} + q^{n+1} s \,\mathcal{U}_{n}^{k}$$
  
=  $(1 + q^{n+1}) x^2 \,\mathcal{U}_{n}^{k+1} + q^n s x \,\mathcal{U}_{n-1}^{k} + q^{n+1} s (1 + q^n) x \,\mathcal{U}_{n-1}^{k} + q^{2n} s^2 \,\mathcal{U}_{n-2}^{k-1}$   
=  $(1 + q^{n+1}) x \mathcal{T}_{n+1}^{k+1} + q^{n+1} s \mathcal{T}_{n}^{k}.$ 

**Corollary 3.7.** The incomplete q-Chebyshev polynomials of the first kind satisfy the non-homogeneous recurrence relation

$$\mathcal{T}_{n+2}^{k} = (1+q^{n+1})\mathcal{T}_{n+1}^{k} + q^{n+1}s\mathcal{T}_{n}^{k} - q^{n+1+k^{2}}\frac{[n]_{q}}{[n-k]_{q}} {n-k \brack k}_{q} \frac{(-q;q)_{n-k-1}}{(-q;q)_{k}} s^{k+1}x^{n-2k}.$$
(21)

**Theorem 3.8.** *For*  $0 \le k \le \frac{n+1}{2}$ *, then* 

$$\mathcal{T}_{n+2}^{k} = x \,\mathcal{U}_{n+1}^{k}(x, q^{2}s, q) + qs \,\mathcal{U}_{n}^{k-1}(x, q^{2}s, q)$$
(22)

holds.

3603

*Proof.* We obtain from Eq. (15) and (3), we have

$$\begin{aligned} x \,\mathcal{U}_{n+1}^{k}(x,q^{2}s,q) + qs \,\mathcal{U}_{n}^{k-1}(x,q^{2}s,q) &= \sum_{j=0}^{k} q^{j^{2}} \left\{ q^{2j} {n-j+1 \choose j}_{q} + (1+q^{j}) {n-j+1 \choose j-1}_{q} \right\} \frac{(-q;q)_{n+1-j}}{(-q;q)_{j}} s^{j} x^{n+2-2j} \\ &= \sum_{j=0}^{k} q^{j^{2}} \frac{[n+2]_{q}}{[n+2-j]_{q}} {n-j+2 \choose j}_{q} \frac{(-q;q)_{n+1-j}}{(-q;q)_{j}} s^{j} x^{n+2-2j} \\ &= \mathcal{T}_{n+2}^{k}. \end{aligned}$$

**Theorem 3.9.** *We have* 

$$(1+q^{n+2})\mathcal{T}_{n+2}^{k} = \mathcal{U}_{n+2}^{k} + q^{2n+3}s \,\mathcal{U}_{n}^{k-1}, \quad 0 \le k \le \left\lfloor \frac{n}{2} \right\rfloor.$$
(23)

Proof. From Eq. (17) and Eq. (15), we get

$$\begin{aligned} \mathcal{U}_{n+2}^{k} + q^{2n+3}s \ \mathcal{U}_{n}^{k-1} &= \sum_{j=0}^{k} q^{j^{2}} \left\{ {\binom{n-j+1}{j}}_{q} + q^{n+1-2j+1}(1+q^{j}) {\binom{n-j+1}{j-1}}_{q} \right\} \frac{(-q;q)_{n+1-j}}{(-q;q)_{j}} s^{j} x^{n+2-2j} \\ &+ q^{n+2} \sum_{j=0}^{k} q^{j^{2}} \left\{ {\binom{n-j+1}{j}}_{q} + q^{n+1-2j+1}(1+q^{j}) {\binom{n-j+1}{j-1}}_{q} \right\} \frac{(-q;q)_{n+1-j}}{(-q;q)_{j}} s^{j} x^{n+2-2j} \end{aligned}$$

We get the following result from Eq. (4) and Eq. (6)

$$\mathcal{U}_{n+2}^k + q^{2n+3}s \, \mathcal{U}_n^{k-1} = \mathcal{T}_{n+2}^k + q^{n+2} \mathcal{T}_{n+2}^k.$$

Lemma 3.10. We have

$$\frac{d \mathcal{U}_n}{dx} = nx^{-1} \mathcal{U}_n - 2x^{-1} \sum_{j=0}^{\lfloor \frac{n}{2} \rfloor} jq^{j^2} {n-j \brack j}_q \frac{(-q;q)_{n-j}}{(-q;q)_j} s^j x^{n-2j}$$
(24)

and

$$\frac{d\mathcal{T}_n}{dx} = nx^{-1}\mathcal{T}_n - 2x^{-1}\sum_{j=0}^{\lfloor\frac{n}{2}\rfloor} jq^{j^2} \frac{[n]_q}{[n-j]_q} {n-j \brack j}_q \frac{(-q;q)_{n-j-1}}{(-q;q)_j} s^j x^{n-2j}.$$
(25)

*Proof.* By using Eq. (9), we have

$$\frac{d \mathcal{U}_n}{dx} = \frac{d}{dx} \left\{ \sum_{j=0}^{\lfloor \frac{n}{2} \rfloor} q^{j^2} {n-j \choose j}_q \frac{(-q;q)_{n-j}}{(-q;q)_j} s^j x^{n-2j} \right\}$$
$$= nx^{-1} \mathcal{U}_n - 2 \sum_{j=0}^{\lfloor \frac{n}{2} \rfloor} j q^{j^2} {n-j \choose j}_q \frac{(-q;q)_{n-j}}{(-q;q)_j} s^j x^{n-2j-1}.$$

Similarly, from Eq. (10), we get Eq. (25).  $\Box$ 

3604

Using Lemma 3.10, we can prove the following theorem.

Theorem 3.11. We have

$$\sum_{k=0}^{\left\lfloor \frac{n}{2} \right\rfloor} \mathcal{U}_n^k = \left( \left\lfloor \frac{n}{2} \right\rfloor - \frac{n}{2} + 1 \right) \mathcal{U}_n + \frac{x}{2} \frac{d \mathcal{U}_n}{dx}.$$
 (26)

*Proof.* From Eq. (15), we have

$$\begin{split} \sum_{k=0}^{\lfloor \frac{n}{2} \rfloor} \mathcal{U}_{n}^{k} &= \left( q^{0} \begin{bmatrix} n \\ 0 \end{bmatrix}_{q} \frac{(-q;q)_{n}}{(-q;q)_{0}} x^{n} \right) + \left( q^{0} \begin{bmatrix} n \\ 0 \end{bmatrix}_{q} \frac{(-q;q)_{n}}{(-q;q)_{0}} x^{n} + q \begin{bmatrix} n-1 \\ 1 \end{bmatrix}_{q} \frac{(-q;q)_{n-1}}{(-q;q)_{1}} sx^{n-2} + \dots + q^{\lfloor \frac{n}{2} \rfloor} \begin{bmatrix} n-\lfloor \frac{n}{2} \rfloor \\ \lfloor \frac{n}{2} \rfloor \end{bmatrix}_{q} \frac{(-q;q)_{n-\lfloor \frac{n}{2} \rfloor}}{(-q;q)_{\lfloor \frac{n}{2} \rfloor}} s^{\lfloor \frac{n}{2} \rfloor} x^{n-2\lfloor \frac{n}{2} \rfloor} \right) \\ &= \left( \left\lfloor \frac{n}{2} \right\rfloor + 1 \right) \left( q^{0} \begin{bmatrix} n \\ 0 \end{bmatrix}_{q} \frac{(-q;q)_{n}}{(-q;q)_{0}} x^{n} \right) + \left( \left\lfloor \frac{n}{2} \right\rfloor + 1 - 1 \right) \left( q \begin{bmatrix} n-1 \\ 1 \end{bmatrix}_{q} \frac{(-q;q)_{n-1}}{(-q;q)_{1}} sx^{n-2} \right) + \dots \\ &+ \left( \left\lfloor \frac{n}{2} \right\rfloor + 1 - \left\lfloor \frac{n}{2} \right\rfloor \right) \left( q^{\lfloor \frac{n}{2} \rfloor} \begin{bmatrix} n-\lfloor \frac{n}{2} \rfloor \\ \lfloor \frac{n}{2} \rfloor \end{bmatrix}_{q} \frac{(-q;q)_{n-\lfloor \frac{n}{2} \rfloor}}{(-q;q)_{0}} s^{\lfloor \frac{n}{2} \rfloor} x^{n-2\lfloor \frac{n}{2} \rfloor} \right) \\ &= \left( \left\lfloor \frac{n}{2} \right\rfloor + 1 - \left\lfloor \frac{n}{2} \right\rfloor \right) \left( q^{\lfloor \frac{n}{2} \rfloor} \begin{bmatrix} n-\lfloor \frac{n}{2} \rfloor \\ \lfloor \frac{n}{2} \rfloor \end{bmatrix}_{q} \frac{(-q;q)_{n-\lfloor \frac{n}{2} \rfloor}}{(-q;q)_{1} \lfloor \frac{n-l}{2} \rfloor} s^{\lfloor \frac{n}{2} \rfloor} x^{n-2\lfloor \frac{n}{2} \rfloor} \right) \\ &= \left( \left\lfloor \frac{n}{2} \right\rfloor + 1 \right) \mathcal{U}_{n} - \sum_{j=0}^{\lfloor \frac{n}{2} \rfloor} j q^{j^{2}} \begin{bmatrix} n-j \\ j \end{bmatrix}_{q} \frac{(-q;q)_{n-j}}{(-q;q)_{j}} s^{j} x^{n-2j}. \end{split}$$

Then by using Lemma 3.10, we get

$$\sum_{k=0}^{\lfloor \frac{n}{2} \rfloor} \mathcal{U}_n^k = \left( \lfloor \frac{n}{2} \rfloor - \frac{n}{2} + 1 \right) \mathcal{U}_n + \frac{x}{2} \frac{d \mathcal{U}_n}{dx}.$$

Theorem 3.12. We have

$$\sum_{k=0}^{\left[\frac{n}{2}\right]} \mathcal{T}_n^k = \left( \left\lfloor \frac{n}{2} \right\rfloor - \frac{n}{2} + 1 \right) \mathcal{T}_n + \frac{x}{2} \frac{d\mathcal{T}_n}{dx}.$$
(27)

*Proof.* We have from Eq. (16) and Lemma 3.10

$$\begin{split} \sum_{k=0}^{\lfloor \frac{n}{2} \rfloor} \mathcal{T}_{n}^{k} &= (q^{0} \begin{bmatrix} n \\ 0 \end{bmatrix}_{q} \frac{(-q;q)_{n-1}}{(-q;q)_{0}} x^{n}) + (q^{0} \begin{bmatrix} n \\ 0 \end{bmatrix}_{q} \frac{(-q;q)_{n-1}}{(-q;q)_{0}} x^{n} + q \frac{[n]_{q}}{[n-1]_{q}} \begin{bmatrix} n-1 \\ 1 \end{bmatrix}_{q} \frac{(-q;q)_{n-2}}{(-q;q)_{1}} sx^{n-2}) + \cdots \\ &+ \left( q^{0} \begin{bmatrix} n \\ 0 \end{bmatrix}_{q} \frac{(-q;q)_{n-1}}{(-q;q)_{0}} x^{n} + q \frac{[n]_{q}}{[n-1]_{q}} \begin{bmatrix} n-1 \\ 1 \end{bmatrix}_{q} \frac{(-q;q)_{n-2}}{(-q;q)_{1}} sx^{n-2} + \cdots \\ &+ q^{\lfloor \frac{n}{2} \rfloor^{2}} \frac{[n]_{q}}{[n-\lfloor \frac{n}{2} \rfloor]_{q}} \begin{bmatrix} n-\lfloor \frac{n}{2} \rfloor \\ \lfloor \frac{n}{2} \end{bmatrix} - \lfloor \frac{n}{2} \rfloor \end{bmatrix}_{q} \frac{(-q;q)_{n-\lfloor \frac{n}{2} \rfloor - 1}{[n-j]_{q}} s^{\lfloor \frac{n}{2} \rfloor - 1} s^{\lfloor \frac{n}{2} \rfloor} x^{n-2\lfloor \frac{n}{2} \rfloor} \\ &= \left( \left\lfloor \frac{n}{2} \right\rfloor + 1 \right) \mathcal{T}_{n} - \sum_{j=0}^{\lfloor \frac{n}{2} \rfloor} jq^{j^{2}} \frac{[n]_{q}}{[n-j]_{q}} \begin{bmatrix} n-j \\ j \end{bmatrix}_{q} \frac{(-q;q)_{n-j-1}}{(-q;q)_{j}} s^{j} x^{n-2j} \\ &= \left( \left\lfloor \frac{n}{2} \right\rfloor - \frac{n}{2} + 1 \right) \mathcal{T}_{n} + \frac{x}{2} \frac{d\mathcal{T}_{n}}{dx}. \end{split}$$

3605

## 4. Graphs of The Incomplete *q*-Chebyshev polynomials

In this section, we display the graphs of the *q*-Chebyshev polynomials and the incomplete *q*-Chebyshev polynomials.

In Figures 1, 2 the graphs of the *q*-Chebyshev polynomials of first and second kind for s = -1, q = -0.5, 0.5, 0.9999, n = 0, 1, 2, 3, 4, 5 and  $-1 \le x \le 1$  are shown.



Figure 1: Graphs of  $\mathcal{T}_n(x, s, q)$  for s = -1, q = -0.5, 0.5, 0.9999, n = 0, 1, 2, 3, 4, 5



Figure 2: Graphs of  $U_n(x, s, q)$  for s = -1, q = -0.5, 0.5, 0.9999, n = 0, 1, 2, 3, 4, 5



Figure 3: Graphs of  $\mathcal{U}_{9}^{k}(x, s, q)$  for s = -1, q = -0.9, -0.5, 0.9, k = 0, 1, 2, 3, 4

E. Ercan et al. / Filomat 32:10 (2018), 3599-3607



Figure 4: Graphs of  $\mathcal{T}_{5}^{k}(\frac{x}{2}, s, q)$  for s = 1, q = -0.9, -0.5, 0.9, k = 0, 1, 2

In Figure 3 the graphs of the incomplete *q*-Chebyshev polynomials of second kind  $\mathcal{U}_9^k(x, s, q)$  for s = -1, q = -0.9, -0.5, 0.9, k = 0, 1, 2, 3, 4 are shown.

In Figure 4 the graphs of the incomplete Lucas polynomials  $\mathcal{T}_5^k(\frac{x}{2}, s, q)$  for s = 1, q = -0.9, -0.5, 0.9, k = 0, 1, 2 are shown.

#### References

- [1] G.E. Andrews, Fibonacci numbers and the Rogers-Ramanujan identities, Fibonacci Quart., 42 (2004) 3-19.
- [2] A. Aral, V. Gupta, R. Agarwal, Applications of q-calculus in operator theory, Springer, (2013).
- [3] L. Carlitz, Fibonacci notes 4: q-Fibonacci polynomials, Fibonacci Quart., 13 (1975) 97-102.
- [4] J. Cigler, A simple approach to *q*-Chebyshev polynomials, arXiv:1201.4703v2, (2012).
- [5] J. Cigler, A new class of q-Fibonacci polynomials, The Electron. J. Combin. 10 (2003) R19.
- [6] G.B. Djordjević and H.M. Srivastava, Incomplete generalized Jacobsthal and Jacobsthal Lucas numbers, Math. Comput. Modelling, 42(9-10) (2005) 1049-1056.
- [7] G.B. Djordjević, Generating functions of the incomplete generalized Fibonacci and generalized Lucas numbers, Fibonacci Quart., 42(2) (2004) 106-113.
- [8] G.B. Djordjević and H.M. Srivastava, Some generalizations of certain sequences associated with the Fibonacci numbers, J. Indonesian Math. Soc., 12 (2006) 99-112.
- [9] G.B. Djordjević and H. M. Srivastava, Some generalizations of the incomplete Fibonacci and the incomplete Lucas polynomials, Adv. Stud. Contemp. Math., 1 (2005) 11-32.
- [10] P. Filipponi, Incomplete Fibonacci and Lucas numbers, Rend. Circ. Mat. Palermo, 45(2) (1996), 37-56.
- [11] H.M. Srivastava and J. Choi, Zeta and q-Zeta Functions and Associated Series and Integrals, Elsevier Science Publishers, Amsterdam, London and New York, (2012).
- [12] T. Kim, Some identities for the Bernoulli, the Euler and the Genocchi numbers and polynomials, Adv. Stud. Contemp. Math. (Kyungshang), 20(1) (2010) 23-28.
- [13] J.C. Mason and J.C. Handscomb, Chebyshev Polynomials, Chapman & Hall, (2003).
- [14] H. Pan, Arithmetic properties of q-Fibonacci numbers and q-pell numbers, Discrete Math., 306 (2006) 21182127.
- [15] G.M. Phillips, Interpolation and approximation by polynomials, Springer-Verlag, (2003).
- [16] A. Pintér and H.M. Srivastava, Generating functions of the incomplete Fibonacci and Lucas numbers, Rend. Circ. Mat. Palermo, 48(2) (1999) 591-596.
- [17] R.K. Raina, and H.M. Srivastava, A class of numbers associated with the Lucas numbers, Math. Comput. Model., 25(7) (1997) 15-22.
- [18] J.L. Ramirez, and V.F. Sirvent, A q-analogue of the Biperiodic Fibonacci Sequence, arXiv:1501.05830, (2015).
- [19] H.M. Srivastava, Some generalizations and basic (or *q*-) extensions of the Bernoulli, Euler and Genocchi polynomials, Appl. Math. Inform. Sci., 5 (2011) 390-444.
- [20] D. Tasci, M. Cetin Firengiz and N. Tuglu, Incomplete bivariate Fibonacci and Lucas p-polynomials, Discrete Dyn. Nat. Soc., vol. 2012 (2012) Article ID 840345, 11 pages.
- [21] D. Tasci, and M. Cetin Firengiz, Incomplete Fibonacci and Lucas p-numbers, Math. Comput. Modelling, 52(9-10) (2010) 1763-1770.